01.03 BaJj koJieHYATHINI

1 =03




Ne B Ne o
HaumenoBanue [Ipumeuanue
pPUCYHKE| KaTajory
002 2010201034 |[etixa mepexHsst
003 | 2070060924 YacTp KOJIEHYATOTO Baja
004 | 2070060914 YacTp KoJIeHYATOrO Baja
005 | 2070060934 YacTp KOJIEHYATOTO Baja
006 | 2010200894 |Illeiika KOJIEHYATOTO BaJsa
007 | 2010460024 [IIpotuBoBec
008 | 2010460034 |[TpoTuBoBeC
009 | 3091148470 bont M12 x 1, 25 x 35 - 10 CSN 8676
010 | 2070061094 Ban xoseH4aTbIit
011 | 3247910200 [[IaprKOMOIIIUITHUK PLC 410-27 TPF
012 | 2052381744 |bont
013 | 2052391304 bont
014 | 2052391314 |bont
015 | 2052391324 |Bont
016 | 2052780184 T aiika
017 2050660454 KobI10 CTOMOpHOE
018 | 4436210160 || ACHTCIb KPYTHILHBIX STE 22.01.00C
Kose0aHui
019 | 2012210124 Benymias mectepHs
020 | 3111108860 |lllaiiba mpy>kuHHAS 12 CSN 02 1741.05 MKS 720
021 | 3091150620 bont M12 x 45 1SO 4762 - 8.8 MKS 720
022 | 3231413710 |Ynopusiii moamumauk Bepxuuii  (6037-02/00
023 | 3231413730 YnopHslii noamunHuK HukHbI  |6038-02/00
024 2055820454 KpeIika moamuymHuKa
025 | 2054240064 KonpLo YIUIOTHUTEIBHOE
026 | 2051011934 |I1Iaiiba
027 | 2053016934 |TpybOka macmonoaBoaa
028 | 3111108840 |l1laiiba mpyxuHHAsS 8 CSN 02 1741.05 MKS 720
029 | 3091173200 |boxnt M8 x 25 ISO 4017 -10.9 MKS 720
030 | 2070130164 |lllectepus
031 | 3111108840 |lllaiiba mpy>XxuHHAS 8 CSN 02 1741.05 MKS 720
032 | 3091150480 bont M8 x 70 ISO 4762 - 8.8 MKS 720
033 | 2050762444 Konbuo
034 | 2010240164 Benen MaxoBHKa
036 | 2070100474 MaxoBuk
037 | 2052381874 bont
038 3241623530 [IIapuKOTOAIIUITHIK 62062 RS 2
039 | 3111731580 KombIo cTomopHoe 62 CSN 02 2931
040 | 3231413770 |Ynopusiii mogmumnauk Bepxuuii  (6037-04/00
041 | 3231413750 YnopHslit noqmunHuK HukHbI  |6038-04/00
042 | 3111123000 [ tudt 10 x 55 A I1SO 2338 - St
043 | 3111122570 Iltudt 6 x 14 A 1SO 2338 - St




	01.03 Вал коленчатый

